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Calculus Practice: Techniques for Finding Antiderivatives 8a

Evaluate each indefinite integral. Use the provided substitution.

2 2 -2X csc
1) f =5 2% dx: U = tan —2x 2) f 8csc 4xcot 4X - 3 dx; U = csc 4x
tan —2X
tan —2X csc 4x
A) — 4 +C A) 23 +C
In 4 In 3
B) etan—2x+C B) _2ecsc4x+C
C) —In |tan—2x|+C C) 2In ‘csc4x|+C
D) In |tan —2X‘ +C D) e ¥ c
3) f20cos —4x - e ¥ dx; u=sin —4x 4) f—Scscz —4x - e ¥ dx; U= cot —4x
A) In |sin—4x| +C A) 2% 4 C
5.5% ¥ B) In |cot—4x| +C
By -———+C s |C(t)4x |
In5 C) 2 ™+cC
C _Sesin—4x e 7. 2cot—4x
) sin —4x D) -———+C
D) e +C In 2
csc X 3cos —X .
5) [2csc xcot X -3 " dXx; u=csc X 6) - dx; u=sin—X
sin —X
A) eCSCX+C B) —2eCSCX+C A) _3esin—X+C
esc x 2. 35X B) -3In ‘sin—x|+C
+ - + :
©) 3 ¢ D) In 3 ¢ C) In |sin —x| +C
D) esin—x+C
7) f—2cscz X - 3°%dx; u=cotx 8) '/‘SSec2 x - 2" dx; u=tan X
A) In |cotx‘+C A) 2"+ C
2.300”( 5.2tanx
B +C B +C
) In 3 ) In 2
C) 21n|cotx|+C C) In |tanx‘+C
D) 3**+C D) 5In |tan x| +C
9) f—4cscz x - e“ X dx; u=cot x 10) flOcscz 5% - 4 dx; U = cot 5x
cot X cot 5X
: +
A) 4.5 L C A) e C
In'5 B) —2In |cot 5x| +C
cotx+ . cot 5x
B) 4e C 0 2.4 ‘c
C) In cotx|+C In 4
D) 5cotx_{_C D) 4cot5x+c
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cos 12sin —3X
11) f—Zsin3X-3 L dx; u=cos 3x 12) I—de; U =cos —3X

cos —3X
A) 3cos3x+C A) 3cosf3x+C
B) In cos3x| +C B) In cos—3x‘ +C
2.3cos3x _4 cosf3x+C
o3 ¢ C) —4e
In 3 D) —4In |cos —3X‘ +C

D) 2In |cos 3X| +C

13) f—16cscz —4x - 3™ dx; u = cot —4x 14) f—20cos 5x - ™ dx; u = sin 5x
A) 3™+ A) In ‘sin SX‘ +C
B) In |cot —4x| +C B) —4e™ ™+ C
C _4€cot—4x_’_C 4'3sin5x
) cot —4X C) - +C
4.3 In 3
D) _—J’_C sin 5X
In 3 D) e +C
sin — . 12 2 3X
15) f—20cos —4x . "™ dx; u=sin —4x 16) I—de; U= tan 3X
tan 3X
sin —4X tan 3X
_l’_ .
A) 4 ‘ C A) —L+C
B) 51n|sm—4x|+C In 5
C) e i C B) In |tan 3x| +C
D) 5e" ™+ C C) —4In ‘tan 3X| +C

D) etan3x_+_C

6 22X sec —
17) f—L dx; u=-cot2x 18) f—6sec —3xtan —3X - €*° ¥ dx; U= sec —3X
cot 2X
A) 3.2°°t2X+C A) In sec—3x‘ +C
In 2 B) 2esec—3x+ C
B 3ecot2x+c 2‘3sec—3x
) cot 2X C) +C
C) 2 +C In 3
D) 3In |cot2x| +C D) 2In |sec—3x| +C
19) f—9cos 3x - 5" dx; U= sin 3x 20) f16cscz —4x - e ™ dx; u=cot —4x
sin 3X cot —4x
: +
A) _3-5 ‘C A) e C
In 5 B) 41n |cot —4x| +C
sin 3X cot —4x
+ 4.
B) C C) o +C
C) —31n |sin3x| +C In 5
D) esin3X+C D) 4ecot—4X+C
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Calculus Practice: Techniques for Finding Antiderivatives 8a

Evaluate each indefinite integral. Use the provided substitution.

2sec’ —2X
1) f =5 2% dx: U = tan —2x 2) f 8csc 4xcot 4X - 3 dx; U = csc 4x
tan —2X
tan —2X csc 4x
A) - 4 +C *A) 2 +C
In 4 In 3
B) etan—2x+ C B) _2ecsc4x+ C
*C) —In |tan—2x|+C C) 2In ‘csc4x|+C
D) In |tan —2X‘ +C D) e ¥ c
3) f20cos —4x - e ¥ dx; u=sin —4x 4) f—Scscz —4x - e ¥ dx; U= cot —4x
A) In |sin—4x| +C A) 274 C
sin —4X
. B) 1 t—4x| +C
B)—S > +C : H|C(t)4x |
In 5 *C) —2e° M+ C
xC) —5e8" 1 ¢ 5 . peot=4x
) sin —4x D) -———+C
D) e +C In 2
csc X 3cos —X .
5) [2csc xcot X -3 " dXx; u=csc X 6) - dx; u=sin—X
sin —x
A) ecscx e B) _2ecscx+ C A) _3esin—x+ C
2. 3o *B) —31In ‘sin—x|+C
Ccsc X * _
Q3 +C D) —= == +C C) In |sin—x| +C
D) esin—x+C
7) f—2cscz X - 3°%dx; u=cotx 8) '/‘SSec2 x - 2" dx; u=tan X
A) In |cotx| +C A) 2"+ C
2. 3COtX _ HtanXx
*B) +C By 22 i¢
In 3 In 2
C) 21n|cotx|+C C) In |tanx‘+C
D) 3**+C D) 5In |tan x| +C
9) f—4cscz x - e“ X dx; u=cot x 10) flOcscz 5% - 4 dx; U = cot 5x
cot X cot 5X
: +
A) 4.5 L C A) e C
In'5 B) —2In |cot 5x| +C
% cotx . 40t 5x
B) 4e C “C) _L+ C
C) In cotx|+C In 4
D) 5cotx_{_C D) 4cot5x+c
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cos 12sin —3X
11) f—Zsin3X-3 L dx; u=cos 3x 12) I—de; U =cos —3X

cos —3X
A) 3cos3x+C A) 3cosf3x+C
B) In cos3X|+C B) In cos—3X‘+C
cos 3X cos —3X
*C)2'3 iC C) —4e +C
In 3 *D) —4In |cos —3X‘ +C

D) 2In |cos 3X| +C

13) f—16cscz —4x - 3™ dx; u = cot —4x 14) f—20cos 5x - ™ dx; u = sin 5x
A) 3% C A) In [sin5x| +C
B) In |cot —4x| +C “B) —4e"" ™+ C
C _4€cot—4x_’_C 4'3sin5x
) cot —4X ) - —+C
4.3 In 3
>kD) _—J’_C sin 5X
In 3 D) e +C
sin — . 12 23X
15) f—20cos—4x-e 4de; U = sin —4Xx 16) I—de; U= tan 3X
tan 3X
A sin—4x+ . tan 3X
) 4 e Ay 45
B) 51n|sm—4x|+C In 5
C) e i C B) In |tan 3x| +C
D) 56" ¥+ C *C) —4In ‘tan 3X| +C

D) etan3x_+_C

6 ? 2X sec —
17) f—L dx; u=-cot2x 18) f—6sec —3xtan —3X - €*° ¥ dx; U= sec —3X
cot 2X
A) 3.2°°t2X+C A) In sec—3x‘ +C
In 2 *B) 28+ C
B 3ecot2x+c 2‘3sec—3x
) cot 2X C) +C
C) 2 +C In 3
*D) 31n |cot2x|+C D) 2In |sec—3x|+C
19) f—9cos 3x - 5" dx; U= sin 3x 20) f16cscz —4x - e ™ dx; u=cot —4x
sin 3X cot —4x
oy 35 o A) e+ C
In 5 B) 41n |cot —4x| +C
sin 3X cot —4x
+ 4.
B) C C) o +C
C) —31n |sin3x| +C In 5
D) esin3X+C *D) 4ecot—4X+C
-
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